F 1 PR 20 AFEE OISR BT IR AR KDL - B T IRAE TR

WH AKE  (ng/L) ' (ng/g-dry) K= (ng/md)
EhE [LESSSESZ1E P FrH HPH FrH i PH T
iz FREBERE | TIRME | BEAEE | TERE | MRS | FRRAE
1] 2T7I YT (% 0.051
- nd~14
2] N 3 9
. 910-7> hFkL VA (LT R L1~87 | 4a
¥/ V) 5/5 ’
[4] 2rmm=haRL Py J& 0.22 ég 0.12
LS s e _ R nd
[5] 44-T7 )T 2 =)b—T )b 011 3.2
[6] CxF L) a—) 6.];5’/;45 33
q | STV MRS 2(EF AT A)ET 00T nd 023
AFN B4 FAA DY) 0/4 '
DF R U A=22-E =L 2 B A[5-(4-E /LR
8] UV /6-7=Y /-135-cV TV -2-4)LT nd 0.16
IYWRCEBUANKF—R] (B4 ClL T 0/5 '
LA L XL | 260)
O |46-v=Fn0-zLv—n 37~69 | 419
717
[10] |26v=hn Lz J& 0.10
] | m-y=raotPr 0';35 0.11
[12] RN E—7v (B4 (R UvA nd~0.59 0.12
FINATF )R EY) 3/6 '
3] | 33-UA FFI_rIV 8/061 21
S0 Il 0,0-2 A F/L-S{2-[I-(N-2 F /- ) j
[14] ANNEA V)2 FLFA=F Ly G4 n 0.062 n 0.28
.~ e 0/3 0/5
NI RFAY)
[15] 2--F7FAX) a7 =0 R nd 0.77
B& : F7aer=1UFK) 0/3 ‘
[16] o-=hmr7=Y—)L Or/]go 14
n7n  |o=kur=yr m;&” 0.10 J& 0.32
8] |m=rur=y>r J& 0.22
[19] o-=hm hLmy ndlzg?,l 0.2
> s sy nd~3
[20] 4-v Fa X ZEFRA TV 13 2
N, nd~12 nd~0.22
[21] 6-7 ==/-135- N U T V24T IV 6/ 1.0 5/5 0.019
2] -7'masN)—n (& AR ELT IV 200~4,900 10
a—)L) 5/5
[23] AFLUER@BL-V T T L)=0A Y nd 0.3
7 F— b 0/5 )
[24] | 44-AF LU EANN-VAF LT =1 L) (% 2.4

(1) BRHBEZHEN—2 TR, T72bb, BHHAGRE S QUEIEAE DAV o 7= MO O H T BRAE 2 i —
L7e 2 & THEADREN BB SNEHEKIEIEER, ) 27T, 1SS O XEROBREZIE LA T, 1
BIECHRIL Sz L &, 2O (RIS &7 5,

(E2) FPHIRER— 2 TR LT, 200, 2HEICEOTRIBS T HEEMSd~ L 25 2 L RD 5,

(1 3) 3B A O THS = L 2 B%T 5.,



